CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1 EAST SAINT PATRICK SIDEWALK MIP09-1805 / CIP NO. 50298

JUNE 22, 2010

ORIGINAL CONTRACT AMOUNT: \$25,261.75 CONTRACTOR: BREWER CONSTRUCTION

LINE	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE	ITEM NO.
1	MOBILIZATION	LS	1.00	\$200.00	\$200.00	1.00	\$200.00	\$0.00	1
2	UNCLASSIFIED EXCAVATION FOR SIDEWALK	LS	1.00	\$150.00	\$150.00	1.00	\$150.00	\$0.00	2
3	TRAFFIC CONTROL	LS	1.00	\$3,000.00	\$3,000.00	1.00	\$3,000.00	\$0.00	3
4	SIDEWALK	SF	4,745.00	\$3.75	\$17,793.75	4,745.00	\$17,793.75	\$0.00	4
5	0-2' CONCRETE 'C' WALL (INCLUDES WALK) ADJUST MANHOLE RING & COVER	LF LS	107.00 1.00	\$9.00 \$50.00	\$963.00 \$50.00	107.00 1.00	\$963.00 \$50.00	\$0.00 \$0.00	5 6
7	COMPOST FERTILZE & SEED	SY	400.00	\$1.25	\$500.00	400.00	\$500.00	\$0.00	7
8	STRAW OR COMPOST WATTELS	LF	700.00	\$2.00	\$1,400.00	700.00	\$1,400.00	\$0.00	8
9	INCIDENTAL	LS	1.00	\$1,205.00	\$1,205.00	1.00	\$1,205.00	\$0.00	9
10	REMOVE CONCRETE FILLETS	SF	0.00	\$1.53	\$0.00	128.00	\$195.84	\$195.84	10
11	REPLACE CONCRETE FILLETS	SF	0.00	\$7.14	\$0.00	128.00	\$913.92	\$913.92	11
12	ADA SIDEWALK RAMP	SF	0.00	\$4.85	\$0.00	100.00	\$485.00	\$485.00	12
13	RETAINING WALL	LF	0.00	\$25.52	\$0.00	20.00	\$510.40	\$510.40	13
	TOTAL				\$25,261.75		\$27,366.91	\$2,105.16	

C.C.O. HISTORY INCREASE/(DECREASE)		PRIOR ADJUSTED CONTRACT PRICE :	\$25,261.75
CCO #1.1	\$2,105.16	NET INCREASE/(DECREASE):	\$2,105.16
		ADJUSTED CONTRACT PRICE:	\$27,366.91
		CHANGE TO DATE:	\$2,105.16

CONTRACTOR: Brewer Construction, 14990 West Hills View Dr., Piedmont, SD 57769 787-6437	DATE G/ZZ/10
ROJECT MANAGER, KLARE SCHROEDER, P.E.	DATE
Well May	6-23-10
CITY ENGINEER: DALE TECH, P.E. / L.S.	DATE
MAYOR: ALAN HANKS	DATE
	DATE
FINANCE: JAMES PRESTON	DATE
CONTRACT TIME CHANGE +/-: 0 NEW CONTRACT TIME: Days	

City Staff recommends approval of this Change Order #1 to Brewer Construction for an increase of \$2,105.16 based on unit pricing with the following appropriation:

\$25,261.75	\$25,261.75
MIP	
8913	
4370	
0101	
\$2,105.16	\$2,105.16
\$27,366.91	\$27,366.91
	MIP 8913 4370 0101 \$2,105.16

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1 EAST SAINT PATRICK SIDEWALK

MIP09-1805 / CIP NO. 50298

JUNE 22, 2010

ORIGINAL CONTRACT AMOUNT: \$25,261.75
CONTRACTOR: BREWER CONSTRUCTION

ITEM	DESCRIPTION	REASON FOR CHANGE	
10	REMOVE CONCRETE FILLETS	Field approach condition necessitated the need to replace fillet in order to install ADA sidewalk ramp.	
11	REPLACE CONCRETE FILLETS	Field approach condition necessitated the need to replace fillet in order to install ADA sidewalk ramp.	
12	ADA SIDEWALK RAMP	Field approach condition necessitated the need to replace fillet in order to install ADA sidewalk ramp.	
13	RETAINING WALL	Field approach condition necessitated the need to replace fillet in order to install ADA sidewalk ramp.	

PREPARED BY: Klare Schroeder

DATE: June 22, 2010

FUNDING TYPE	M		
COST CENTER	89		
LINE ITEM	43		
FUND	05		
DESCRIPTION OF ITEM	AMOUNT	PERCENT	
MOBILIZATION	0.00	100%	100%
UNCLASSIFIED EXCAVATION FOR	0.00	100%	100%
TRAFFIC CONTROL	0.00	100%	100%
5' WIDE PCC CONCRETE SIDEWA	0.00	100%	100%
0-2' CONCRETE 'C' WALL (INCLUD ADJUST MANHOLE RING & COVER		100% 100%	
COMPOST FERTILZE & SEED	0.00	100%	100%
STRAW OR COMPOST WATTELS	0.00	100%	100%
INCIDENTAL	0.00	100%	100%
REMOVE CONCRETE FILLETS	195.84	100%	100%
REPLACE CONCRETE FILLETS	913.92	100%	100%
ADA SIDEWALK RAMP	485.00	100%	100%
RETAINING WALL	510.40	100%	100%
	\$2,105.16		